Name:

—(Decimql Addition and Sub’rrac’rion)—

N F

b. 39.6 — 17.5 =

c. Rafi drank 3.7 liters of water
yesterday and he drank 2.8 liters

d. Farah picked two watermelons.

One weighed 8.7 pounds and

Preview

Please log in to download
the printable version of this worksheet.

answer:.

answer:

e. Fillin the missing value.

part part

143.6 59.2

whole

f.  Fill in the missing value.

part part

64.8

735.9

whole
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ANSWER KEY
—(Decimql Addition and Sub’rrac’rion)—

@ 1 b. 39.6 —17.5 = __22.]
26.4

§ | e e s
Plecase log In Tc

the printable v

11 whole 413 whole
143.6 £35.9

+ 59.2 - 64.8
202.8 67 1.1

KH
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